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}) The following problem is taken from an actual Advanced Placement Statistics 1039
j m 8 Examination. Your task is to generate a complete, concise statistical response in
,/*’_f H\ 15 minutes. You will be graded based on the AP rubric and will earn a score of
/ - = 0-4. After grading, keep this problem in your binder for your AP Exam

preparation. | e1 A = Ca,-dio pum p Hrectment
B= CPR +readment
A French study was conducted in the 1990s to compare the effectiveness of using an instrument called a

cardiopump with the effectiveness of using traditional cardiopulmonary resuscitation {CPR) in saving lives of

heart attack victims. Heart attack patients in participating cities were treated with either a cardiopump or CPR,

depending on whether the individual’s heart attack occurred on an even-numbered or an odd-numbered day of

the month. Before the start of the study, a coin was tossed to determine which treatment, a cardiopump or

CPR, was given on the even-numbered days. The other treatment was given on the odd-numbered days. In total,

754 patients were treated with a cardiopump, and 37 survived at least one year; while 746 patients were treated

with CPR,and |5 survived at least one'year. T4 > Propurkan o patiedts whe Survive 140 wlcardiopurmp
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S.QQI:ing;. (a)} The conditions for inference are satisfied in the study. State the conditions and

indicate how they are satisfied.
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(b) Perform a statistical test to determine whether the survival rate for patients

treated with a cardiopump is significantly higher than the survival rate for patients

-

treated with CPR.
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